E-ISSN: 2581-8147

Volume 14, Number 1, 2024, Pages 161-173 https://doi.org/10.34198/ejms.14124.161173



Multiple Split Equality Problem and Convergence Result

Agatha Chizoba Nnubia^{1,*}, Austine Nduaguibe², Ofodile Ugochukwu³ and Chika Moore⁴

Department of Mathematics, Nnamdi Azikiwe University, P. M. B. 5025, Awka, Nigeria

e-mail: ac.nnubia@unizik.edu.ng¹

e-mail: ac.nduaguibe@unizik.edu.ng² e-mail: ugoofodile2015@gmail.com³

e-mail: cs.moore@unizik.edu.ng⁴

Abstract

Let H_i (where i=1,...,m) be Hilbert spaces, and let H be another Hilbert space. Let $A_i: H_i \to H$ be bounded linear operators for i=1,...,m. We introduce the Multiple Split Equality Problem (MSEP), provide an algorithm for constructing a solution to MSEP, and establish the strong convergence of the algorithm to such a solution.

1 Introduction

Let D_1 and D_2 be nonempty closed convex subsets of real Hilbert spaces H_1 and H_2 , respectively. The split feasibility problem is formulated as finding a point x satisfying

$$x \in D_1$$
 such that $Ax \in D_2$, (1)

where A is a bounded linear operator from H_1 into H_2 . The split feasibility problem in finite-dimensional Hilbert spaces was first studied by Censor

Received: August 1, 2023; Revised & Accepted: September 2, 2023; Published: November 29, 2023 2020 Mathematics Subject Classification: 47H10, 47J25.

Keywords and phrases: Hilbert spaces, multiple split equality problem, strong convergence, bounded linear operators.

^{*}Corresponding author

and Elfving [3] for modeling inverse problems that arise in medical image reconstruction, image restoration, and radiation therapy treatment planning (see, e.g., [1], [2], [3]). It is clear that $x \in D_1$ is a solution to the split feasibility problem (1) if and only if $Ax - P_{D_2}Ax = 0$, where P_{D_2} is the metric projection from H_2 onto D_2 .

Let H_1 , H_2 , and H be Hilbert spaces, D_1 , D_2 be nonempty closed convex subsets of H_1 , H_2 respectively, and let $A: H_1 \to H$ and $B: H_2 \to H$ be bounded linear operators. The Split Equality Problem (SEP) is to find

$$x \in D_1 \text{ and } y \in D_2 \text{ such that } Ax = By.$$
 (2)

This problem has been studied by several researchers; see, for example, Censor and Segal [4], Moudafi [7], Zhao [17], and references therein. Clearly, the SEP is a special case of the SFP. Since the introduction of the Split Feasibility Problem above, many authors have modified it to solve common fixed-point problems; see, for example, Hojo and Takahashi [14], Wang and Kim [15], Shehu et al. [13], Zegeye [16], Ofoedu and Araka [9], Nnubia et al. [8], and references therein.

Let X_i (where i = 1, ..., m), X be Banach spaces, $D_i \subset X_i$, $D \subset X$ be closed convex nonempty subsets of the respective Banach spaces, and let $A_i : X_i \to X$ (for i = 1, 2, ..., m) be bounded linear operators. The Multiple Split Feasibility Problem (MSFP) consists in finding

$$x_i \in D_i \text{ such that } A_i x_i \in D \quad (i = 1, \dots, m).$$
 (3)

Let $A = (A_1, A_2, ..., A_m)$ and $\bar{x} = (x_1, x_2, ..., x_m)$. Then $A : \prod_{i=1}^m X_i \to X^m$ is multilinear and multibounded (i.e., bounded and linear in each argument). The MSFP becomes the problem of finding

$$\bar{x} \in \prod_{i=1}^{m} D_i \text{ such that } A\bar{x} \in D^m.$$
 (4)

Thus, the MSFP is an extension and generalization of SFP, since m=2 yields the SFP.

Similarly, the Multiple Split Equality Problem (MSEP) also becomes the problem of finding

$$\bar{x} \in \prod_{i=1}^{m} D_i \text{ such that } A\bar{x} \in D_0^m,$$
 (5)

where $D_0^m = \{(x, x, ..., x) \mid x \in D\} = \{(x_1, ..., x_m) \in D^m \mid x_i = x_j, i, j = 1, ..., m\} \subset D^m$.

In the above setting, the Multiple Split Equality Problem (MSEP) consists in finding

$$x_i \in D_i \quad (i = 1, \dots, m) \text{ such that } A_i X_i = A_i X_i$$
 (6)

(all i, j = 1, ..., m), so that the MSEP is an extension and generalization of SEP.

2 Preliminaries

It is our purpose in this work to introduce the Multiple Split Equality Problem (MSEP), provide an algorithm for constructing a solution to MSEP, and establish the strong convergence of the algorithm to such a solution.

We shall make use of the following lemmas.

Lemma 2.1. Let E be a real normed linear space with a single-valued generalized duality mapping, and let $1 . Then, for all <math>x, y \in E$, the following inequality holds:

$$||x + y||^p \le ||x||^p + p\langle y, J_E^p(x + y)\rangle.$$

For E=H and $x,y,z\in H$, the following also hold:

1.
$$||x - y + z||^2 - 2\langle z, x - y \rangle \ge ||x - y||^2$$
,

2.
$$||x + y||^2 = ||x||^2 + 2\langle y, x \rangle + ||y||^2$$
.

Lemma 2.2. For any x, y, z in a real Hilbert space H and a real number $\lambda \in [0, 1]$,

$$\|\lambda x + (1 - \lambda)y - z\|^2 = \lambda \|x - z\|^2 + (1 - \lambda)\|y - z\|^2 - \lambda (1 - \lambda)\|x - y\|^2.$$

Lemma 2.3. [14] Let K be a closed convex nonempty subset of a real Hilbert space H. Let $x \in H$, then $x_0 = P_K x$ if and only if

$$\langle z - x_0, x - x_0 \rangle \le 0 \quad \forall \ z \in K.$$

Lemma 2.4. Let $\{\Gamma_n\}$ be a sequence of real numbers that does not decrease at infinity in the sense that there exists a subsequence $\{\Gamma_{n_j}\}$ of $\{\Gamma_n\}$ which satisfies $\Gamma_{n_j} < \Gamma_{n_j+1}$ for all $j \in \mathbb{N}$. Define the sequence $\{\tau(n)\}_{n \geq n_0}$ of integers as follows:

$$\tau(n) = \max\{k \le n_0 : \Gamma_k < \Gamma_{k+1}\},\,$$

where $n_0 \in \mathbb{N}$ and the set $\{k \leq n_0 : \Gamma_k < \Gamma_{k+1}\}$ is not empty. Then, the following hold:

- 1. $\tau(n_0) \leq \tau(n_0+1)$ and $\tau(n) \to \infty$ as $n \to \infty$,
- 2. $\Gamma_{\tau(n)} \leq \Gamma_{\tau(n+1)}$ and $\Gamma_n \leq \Gamma_{\tau(n+1)}$ for all $n \in \mathbb{N}$.

Lemma 2.5. Let $\{x_n\}$ be a sequence of nonnegative real numbers satisfying the following relation:

$$x_{n+1} \le x_n - \alpha_n x_n + \delta_n, \ n \ge n_0,$$

where $\{\alpha_n\}_{n\geq 1} \subset (0,1)$ and $\{\delta_n\}_{n\geq 1} \subset \mathbb{R}$ satisfy the following conditions: $\sum_{n=0}^{\infty} \alpha_n = \infty, \lim_{n\to\infty} \alpha_n = 0, \text{ and } \limsup_{n\to\infty} \delta_n \leq 0, \text{ then } \lim_{n\to\infty} x_n = 0.$

3 Main Result

Theorem 3.1. Let H_i (i = 1, ..., m) be Hilbert spaces, H another Hilbert space, and $A_i : H_i \to H$ be bounded linear operators with adjoint operators A_i^* (i = 1, ..., m).

Define
$$\Omega = \{(x_1, x_2, ..., x_m) \in \prod_{i=1}^m H_i : A_i x_i = A_j x_j \text{ for } i, j = 1, ..., m\}.$$

Starting with arbitrary $u_i \in H_i$ (i = 1, ..., m), define the iterative sequence $\{x_{i,n}\}$ by

$$x_{i,n+1} = \alpha_n u_i + (1 - \alpha_n) y_{i,n}$$

$$y_{i,n} = x_{i,n} - \beta_n A_i^* (A_i x_{i,n} - A_j x_{j,n}) : i \neq j.$$
 (7)

Suppose that $\Omega \neq \emptyset$, then $\{x_{i,n}\}$ is bounded for all $i \in \{1, 2, ..., m\}$ provided that

1.
$$\{\alpha_n\}_{n\geq 0} \subset (0,1)$$
 such that $\lim_{n\to\infty} \alpha_n = 0$ and $\sum_{n=1}^{\infty} \alpha_n = \infty$.

2.
$$2m - \beta_n \sum_{i=1}^{m} ||A_i||^2 > 0.$$

Proof. Let $(x_1^*, x_2^*, , ..., x_m^*) \in \Omega$, from (7), Lemma 2.1 we have

$$||y_{i,n} - x_i^*||^2 = ||x_{i,n} - x_i^* - \beta_n A_i^* (A_i x_{i,n} - A_j x_{j,n})||^2$$

$$= ||x_{i,n} - x_i^*||^2 - 2\beta_n \langle A_i x_{i,n} - A_j x_{j,n}, A_i^* x_{i,n} - A_i^* x_i^* \rangle$$

$$+ \beta_n^2 ||A_i||^2 ||A_i x_{i,n} - A_j x_{j,n}||^2.$$
(8)

Moreover, with Lemma 2.3 and the hypothesis, we have

$$||x_{i,n+1} - x_{i}^{*}||^{2} = ||\alpha_{n}(u_{i} - x_{i}^{*}) - (1 - \alpha_{n})(y_{i,n} - x_{i}^{*})||^{2}$$

$$= \alpha_{n}||u_{i} - x_{i}^{*}||^{2} + (1 - \alpha_{n})||y_{i,n} - x_{i}^{*}||^{2} - \alpha_{n}(1 - \alpha_{n})||u_{i} - y_{i,n}||^{2}$$

$$= \alpha_{n}||u_{i} - x_{i}^{*}||^{2} + (1 - \alpha_{n})||x_{i,n} - x_{i}^{*}||^{2}$$

$$+ (1 - \alpha_{n})\beta_{n}^{2}||A_{i}||^{2}||A_{i}x_{i,n} - A_{j}x_{j,n}||^{2}$$

$$-2(1 - \alpha_{n})\beta_{n}\langle A_{i}x_{i,n} - A_{j}x_{j,n}, A_{i}^{*}x_{i,n} - A_{i}^{*}x_{i}^{*}\rangle$$

$$-\alpha_{n}(1 - \alpha_{n})||u_{i} - y_{i,n}||^{2}.$$

$$(9)$$

Define
$$D_n(x_1^*, x_2^*, ..., x_m^*) = \sum_{i=1}^m ||x_{i,n} - x_i^*||^2$$
.

Then,

$$D_{n+1}(x_{1}^{*}, x_{2}^{*}, ..., x_{m}^{*})$$

$$\leq \alpha_{n} \sum_{i=1}^{m} \|u_{i} - x_{i}^{*}\|^{2} + (1 - \alpha_{n}) \sum_{i=1}^{m} \|x_{i,n} - x_{i}^{*}\|^{2}$$

$$-(1 - \alpha_{n})\beta_{n}(2m - \beta_{n} \sum_{i=1}^{m} \|A_{i}\|^{2}) \sum_{i=1}^{m} \|A_{i,n}x_{i,n} - A_{j}x_{j,n})\|^{2}$$

$$-\alpha_{n}(1 - \alpha_{n}) \sum_{i=1}^{m} \|u_{i,n} - y_{i,n}\|^{2}.$$
(10)

Since $2m - \beta_n \sum_{i=1}^m ||A_i||^2 \ge 0$, we have that

$$D_{n+1}(x_1^*, ..., x_m^*) \le (1 - \alpha_n) D_n(x_1^*, ..., x_m^*) + \alpha_n \sum_{i=1}^m \|u_i - x_i^*\|^2.$$
 (11)

Using mathematical induction, we show that the sequence $\{D_{n+1}(x_1^*,...,x_k^*)\}_{n\geq 1}$ is bounded.

Let
$$d = \max\{\sum_{i=1}^{m} \|x_{i,0} - x_i^*\|^2, \sum_{i=1}^{m} \|u_i - x_i^*\|^2\}.$$

So, $D_0(x_1^*, ..., x_k^*) \leq d$, observe that

$$D_1(x_1^*, ..., x_m^*) \leq (1 - \alpha_0) D_0(x_1^*, ..., x_m^*) + \alpha_0 \sum_{i=1}^m ||u_i - x_i^*||^2$$
$$= (1 - \alpha_0)d + \alpha_0 d = d.$$

Suppose $D_k(x_1^*,...,x_m^*) \leq d$, then,

$$D_{k+1}(x_1^*, ..., x_m^*) \leq (1 - \alpha_k) D_k(x_1^*, ..., x_m^*) + \alpha_k \sum_{i=1}^m ||u_i - x_i^*||^2$$

$$\leq (1 - \alpha_k) d + \alpha_k d = d$$

so that $\{D_n(x_1^*,...,x_m^*)\}_{n\geq 1}$ is bounded and hence $\{x_{i,n}\}_{n\geq 1}$ is bounded $\forall i,...,m$.

Theorem 3.2. Let H_i (i = 1, ..., m) be Hilbert spaces, H another Hilbert space, and $A_i : H_i \to H$ be bounded linear operators with adjoint operators A_i^* (i = 1, ..., m). Let Ω be as defined in Theorem 3.1. Consider the sequence $\{x_{i,n}\}$ defined by (7). Then, $\{x_{i,n}\}_{n\geq 0}$, where $i \in \{1, 2, ..., m\}$, converges strongly to an element $(\hat{x}_1, \hat{x}_2, ..., \hat{x}_k) \in P_{\Omega}(u_1, u_2, ..., u_m)$.

Proof. From Theorem 3.1, we know that $\{x_{i,n}\}_{n\geq 1}$ is bounded for all i,...,m.

Let
$$(\hat{x}_1, \hat{x}_2, ..., \hat{x}_m) \in P_{\Omega}(u_1, u_2, ..., u_m)$$
 for all $(y_1, y_2, ..., y_k) \in \Omega$.

From Lemma 2.3:

$$\langle (y_1, y_2, ..., y_m) - (\hat{x}_1, \hat{x}_2, ..., \hat{x}_m), (u_1, u_2, ..., u_m) - (\hat{x}_1, \hat{x}_2, ..., \hat{x}_m) \rangle$$

$$= \langle (y_1 - \hat{x}_1, y_2 - \hat{x}_2, ..., y_m - \hat{x}_m), (u_1 - \hat{x}_1, u_2 - \hat{x}_2, ..., u_m - \hat{x}_m) \rangle \leq 0.$$

From Lemma 2.1, Theorem 3.1, and the hypothesis, we conclude that

$$||x_{i,n+1} - \hat{x}_{i}||^{2} = ||\alpha_{n}u_{i} + (1 - \alpha_{n})y_{i,n} - \hat{x}_{i}||^{2}$$

$$= ||\alpha_{n}u_{i} + (1 - \alpha_{n})y_{i,n} - \hat{x}_{i} - \alpha_{n}(u_{i} - \hat{x}_{i}) + \alpha_{n}(u_{i} - \hat{x}_{i})||^{2}$$

$$\leq ||\alpha_{n}u_{i} + (1 - \alpha_{n})y_{i,n} - \hat{x}_{i} - \alpha_{n}(u_{i} - \hat{x}_{i})||^{2}$$

$$+2\alpha_{n}\langle u_{i} - \hat{x}_{i}, x_{i,n+1} - \hat{x}_{i}\rangle$$

$$= ||\alpha_{n}\hat{x}_{i} + (1 - \alpha_{n})y_{i,n} - \hat{x}_{i}||^{2} + 2\alpha_{n}\langle u_{i} - \hat{x}_{i}, x_{i,n+1} - \hat{x}_{i}\rangle$$

$$= (1 - \alpha_{n})^{2}||y_{i,n} - \hat{x}_{i}||^{2} + 2\alpha_{n}\langle u_{i} - \hat{x}_{i}, x_{i,n+1} - \hat{x}_{i}\rangle$$

$$\leq (1 - \alpha_{n})||y_{i,n} - \hat{x}_{i}||^{2} + 2\alpha_{n}\langle u_{i} - \hat{x}_{i}, x_{i,n+1} - \hat{x}_{i}\rangle$$

$$\leq (1 - \alpha_{n})||x_{i,n} - x_{i}^{*}||^{2} + 2\alpha_{n}\langle u_{i} - \hat{x}_{i}, x_{i,n+1} - \hat{x}_{i}\rangle$$

$$+(1 - \alpha_{n})\beta_{n}^{2}||A_{i}||^{2}||A_{i}x_{i,n} - A_{j}x_{j,n}||^{2}$$

$$-2(1 - \alpha_{n})\beta_{n}\langle A_{i}x_{i,n} - A_{j}x_{j,n}, A_{i}^{*}x_{i,n} - A_{i}^{*}x_{i}^{*}\rangle$$

so,

$$D_{n+1}(\hat{x}_{1},...,\hat{x}_{m}) \leq (1-\alpha_{n})D_{n}(\hat{x}_{1},...,\hat{x}_{m}) + 2\alpha_{n} \sum_{i=1}^{m} \langle u_{i} - \hat{x}_{i}, x_{i,n+1} - \hat{x}_{i} \rangle$$

$$-(1-\alpha_{n})\beta_{n}(2m-\beta_{n} \sum_{i=1}^{m} ||A_{i}|||^{2}) \sum_{i=1, i \neq j}^{m} ||A_{i}x_{i,n} - A_{j}x_{j,n}||.$$

$$(12)$$

Hence

$$D_{n+1}(\hat{x}_1, ..., \hat{x}_m) \leq (1 - \alpha_n) D_n(\hat{x}_1, ..., \hat{x}_m) + 2\alpha_n \sum_{i=1}^m \|u_i - \hat{x}_i\| \|x_{i,n+1} - x_{i,n}\|$$

$$+2\alpha_n \sum_{i=1}^m \langle u_i - \hat{x}_i, x_{i,n} - \hat{x}_i \rangle.$$

$$(13)$$

Furthermore, we show that $\{D_n(\hat{x}_1,...,\hat{x}_m)\}$ converges strongly to zero. We discern two possible cases

Case 1: Suppose that the real sequence $\{D_n(\hat{x}_1,...,\hat{x}_m)\}_{n\geq 1}$ is non-increasing for $n\geq n_0$, for some $n_0\in\mathbb{N}$. This implies that $\{D_n(\hat{x}_1,...,\hat{x}_m)\}_{n\geq 1}$ is monotonic and bounded, and hence converges.

Moreover, using (12) and the fact that $\alpha_n \to 0$ as $n \to \infty$, we have that for all $i, j \in \{1, 2, ..., m\}, j \neq i$:

$$\lim_{n\to\infty} ||A_i x_{i,n} - A_j x_{j,n}|| = 0,$$

$$\lim_{n \to \infty} \|y_{i,n} - x_{i,n}\| = \lim_{n \to \infty} \beta_n \|A_i x_{i,n} - A_i x_{i,n}\| = 0,$$

$$\lim_{n\to\infty} ||x_{i,n+1} - y_{i,n}|| = \lim_{n\to\infty} \alpha_n ||u_i - y_{i,n}|| = 0 \quad \forall i,$$

and

$$\lim_{n\to\infty} ||x_{i,n+1} - x_{i,n}|| \le \lim_{n\to\infty} (||x_{i,n+1} - y_{i,n}|| + ||y_{i,n} - x_{i,n}||) = 0 \quad \forall i.$$

Claim:

$$\limsup_{n \to \infty} \sum_{i=1}^{m} \langle u_i - \hat{x}_i, x_{i,n} - \hat{x}_i \rangle \le 0.$$

Proof of Claim: Let $\{x_{1,n_l}, x_{2,n_l}, ..., x_{m,n_l}\}_{l>1}$ be a subsequence of

 $\{x_{1,n}, x_{2,n}, ..., x_{m,n}\}_{n\geq 1}$ such that

$$\limsup_{n \to \infty} \sum_{i=1}^{m} \langle u_i - \hat{x}_i, x_{i,n} - \hat{x}_i \rangle = \lim_{l \to \infty} \sum_{i=1}^{m} \langle u_i - \hat{x}_i, x_{i,n_l} - \hat{x}_i \rangle$$

so, $\forall i$:

$$\limsup_{n \to \infty} \langle u_i - \hat{x}_i, x_{i,n} - \hat{x}_i \rangle = \lim_{l \to \infty} \langle u_i - \hat{x}_i, x_{i,n_l} - \hat{x}_i \rangle.$$

Furthermore, since $H_0 = \prod_{i=1}^m H_i$ is a Hilbert space and reflexive, and $\{x_{1,n_l}, x_{2,n_l}, ..., x_{m,n_l}\}_{l\geq 1}$ is a bounded sequence in H_0 , there exists a subsequence $\{x_{1,n_{l_t}}, x_{2,n_{l_t}}, ..., x_{m,n_{l_t}}\}_{t\geq 1}$ of $\{x_{1,n_l}, x_{2,n_l}, ..., x_{m,n_l}\}_{l\geq 1}$ that converges weakly to $(\hat{x}_1, ..., \hat{x}_m) \in H$; that is, $x_{i,n_{l_t}} \to^w \hat{x}_i$ as $t \to \infty$. Hence, the subsequences $\{y_{i,n_{l_t}}\} \subset \{y_{i,n_l}\}$ converge weakly to \hat{x}_i for all i.

Moreover, for all i and $j \neq i$:

$$||A_i x_i^* - A_j x_j^*||^2 \le ||A_i x_{i,n_{l_t}} - A_j x_{j,n_{l_t}}||^2$$

$$+ 2\langle A_i x_i^* - A_i x_{i,n_{l_t}} + A_j x_{j,n_{l_t}} - A_j x_j^*, A_i x_{i,n_{l_t}} - A_j x_{i,n_{l_t}} \rangle.$$

Since $x_{i,n_{l_t}} \to^w x_i^*$ as $t \to \infty$ for all i, we have that $A_i x_{i,n_{l_t}} \to^w A_i x_i^*$ as $t \to \infty$. Thus, taking limits on both sides and using the fact that $A_i x_i^* = A_j x_j^*$ for all $i, j \in \{1, 2, ..., m\}$, we conclude that $(x_1^*, x_2^*, ..., x_m^*) \in \Omega$.

$$\lim_{t \to \infty} \sup_{i=1}^{m} \langle u_i - x_i^*, x_{i,n} - x_i^* \rangle$$

$$= \lim_{t \to \infty} \langle (x_{1,n_l}, x_{2,n_l}, ..., x_{m,n_l}) - (x_1^*, x_2^*, ..., x_m^*), (x_{1,0}, x_{2,0}, ..., x_{m,0}) - (x_1^*, x_2^*, ..., x_m^*) \rangle$$

$$= \langle (x_1^*, x_2^*, ..., x_m^*) - (x_1^*, x_2^*, ..., x_m^*), (u_1, x_2, ..., x_m) - (x_1^*, x_2^*, ..., x_m^*) \rangle \leq 0.$$

Now, from (12) and (13), we have

$$D_{n+1}(\hat{x}_1, ..., \hat{x}_m) \le (1 - \alpha_n) D_n(\hat{x}_1, ..., \hat{x}_m)$$

$$+ 2\alpha_n \sum_{i=1}^m \langle u_i - \hat{x}_i, x_{i,n} - \hat{x}_i \rangle$$

$$+ 2\alpha_n \sum_{i=1}^m ||u_i - \hat{x}_i|| ||x_{i,n+1} - x_{i,n}||.$$

So, by Lemma 2.5, $\{D_n(\hat{x}_1,...,\hat{x}_m)\}_{n\geq 0}$ converges strongly to zero as $n\to\infty$. Hence, $(x_{1,n},x_{2,n},...,x_{m,n})$ converges strongly to $(\hat{x}_1,...,\hat{x}_m)\in\Omega$. This completes the proof of this Case.

Case 2: Suppose there exists a subsequence $\{D_{n_s}(\hat{x}_1,...,\hat{x}_m)\}$ of $\{D_n(\hat{x}_1,...,\hat{x}_m)\}$ such that $D_{n_s}(\hat{x}_1,...,\hat{x}_m) \leq D_{n_s+1}(\hat{x}_1,...,\hat{x}_m)$ for all $s \in \mathbb{N}$. Then, by Lemma 2.4, there exists a non-decreasing sequence $\{q_c\}_{c\geq 1} \subset \mathbb{N}$ such that:

- (i) $\lim_{n\to\infty} q_c = \infty$
- (ii) $D_{q_c}(\hat{x}_1, ..., \hat{x}_m) \leq D_{q_c+1}(\hat{x}_1, ..., \hat{x}_m)$ for all $c \in \mathbb{N}$.

Since the sequence $\{x_{i,q_c}\}_{c\geq 1}$ for i=1,...,m is bounded, we obtain from (12) and using the arguments earlier:

$$||y_{i,q_c} - x_{i,q_c}|| \to 0$$
, as $c \to \infty \quad \forall i$

and

$$||x_{i,q_c+1} - x_{i,q_c}|| \to 0$$
, as $c \to \infty \quad \forall i$.

Also,

$$\limsup_{t \to \infty} \sum_{i=1}^{m} \langle u_i - \hat{x}_i, x_{i,q_c} - \hat{x}_i \rangle \le 0.$$

Since $D_{q_c}(\hat{x}_1,...,\hat{x}_m) \leq D_{q_c+1}(\hat{x}_1,...,\hat{x}_m)$, we have:

$$\alpha_{q_c} D_{q_c}(\hat{x}_1, ..., \hat{x}_m) \leq D_{q_c}(\hat{x}_1, ..., \hat{x}_m) - D_{q_c+1}(\hat{x}_1, ..., \hat{x}_m)$$

$$+ 2\alpha_{q_c} \sum_{i=1}^m \langle u_i - \hat{x}_i, x_{i,q_c} - \hat{x}_i \rangle$$

$$+ 2\alpha_{q_c} \sum_{i=1}^m ||u_i - \hat{x}_i|| ||x_{i,q_c+1} - x_i, q_c||.$$

Dividing through by α_{q_c} and taking limits as $c \to \infty$, we get:

$$D_{q_c}(\hat{x}_1, ..., \hat{x}_m) \le 2 \sum_{i=1}^m \langle u_i - \hat{x}_i, x_{i, q_c} - \hat{x}_i \rangle + 2 \sum_{i=1}^m \|u_i - \hat{x}_i\| \|x_{i, q_c + 1} - x_{i, q_c}\|$$

and

$$D_{q_c+1}(\hat{x}_1,...,\hat{x}_m) \to 0$$
 as $c \to \infty$.

Since $D_c(\hat{x}_1,...,\hat{x}_m) \leq D_{q_c+1}(\hat{x}_1,...,\hat{x}_m)$, then $D_c(\hat{x}_1,...,\hat{x}_m) \to 0$ as $c \to \infty$. This implies that

$$\lim_{c \to \infty} ||x_{i,c} - \hat{x}_i|| = 0 \quad \forall i,$$

so that $x_{i,c} \to \hat{x}_i$ as $c \to \infty$. Thus, $(x_{1,n}, x_{2,n}, ..., x_{m,n}) \to (\hat{x}_1, ..., \hat{x}_m)$ as $n \to \infty$. This completes the proof of the second case and thus the proof of the Theorem. \square

4 Concluding Remarks

The Multiple Split Equality Problem (MSEP) has been introduced in this work, and an algorithm for constructing its solution has been provided. Moreover, the strong convergence of the algorithm to such a solution has been established.

Acknowledgements

The author expresses gratitude to the anonymous referee whose insightful comments significantly improved the original version of this manuscript.

References

- [1] Byrne, C. (2002). Iterative oblique projection onto convex sets and the split feasibility problem. *Inverse Problems*, 18, 441-453. http://dx.doi.org/10.1088/0266-5611/18/2/310
- [2] Censor, Y., Bortfeld, T., Martin, B., & Trofimov, A. (2006). A unified approach for inversion problems in intensity-modulated radiation therapy. *Physics in Medicine* and Biology, 51, 2353-2365. http://dx.doi.org/10.1088/0031-9155/51/10/001

- [3] Censor, Y., & Elfving, T. (1994). A multiprojection algorithm using Bregman projections in a product space. *Numerical Algorithms*, 8, 221-239. http://dx.doi.org/10.1007/bf02142692
- [4] Censor, Y., & Segal, A. (2009). The split common fixed point problem for directed operators. *Journal of Convex Analysis*, 16, 587-600.
- [5] Mainge, P. E. (2008). Strong convergence of projected subgradient methods for nonsmooth and nonstrictly convex minimization. Set-Valued Analysis, 16, 899-912. http://dx.doi.org/10.1007/s11228-008-0102-z
- [6] Moudafi, A. (2003). Second-order differential proximal methods for equilibrium problems. *Journal of Inequalities in Pure and Applied Mathematics*, 4, Art. 18.
- [7] Moudafi, A. (2014). Alternating CQ-algorithms for convex feasibility and split fixed-point problems. *Journal of Nonlinear Convex Analysis*, 15, 809-818. http://dx.doi.org/10.1016/j.na.2012.11.013
- [8] Moore, C., Nnubia, A. C., Ofodile, U., & Nduaguibe, A. C. (2022). Multiple split equilibrium fixed point problem involving finite families of η-demimetric and quasi-nonexpansive mappings. *International Journal of Innovative Science and Research Technology*, 7(11), 2221-2234.
- [9] Ofoedu, E. U., & Araka, N. N. (2019). Simultaneous approximation methods for common solution of equilibrium, fixed point and split equality problems. *Journal of Nonlinear and Convex Analysis*, 20, 85-101.
- [10] Ofoedu, E. U., & Malonza, D. M. (2011). Hybrid approximation of solutions of nonlinear operator equations and application to equation of Hammerstein-type. Applied Mathematics and Computation, 217(13), 6019-6030. http://dx.doi.org/ 10.1016/j.amc.2010.12.073
- [11] Ohara, J. G., Pillary, P., & Xu, H. K. (2006). Iterative approaches to convex feasibility problem in Banach spaces. *Nonlinear Analysis*, 64, 2022-2042. http://dx.doi.org/10.1016/j.na.2005.07.036
- [12] Shehu, Y. (2011). A new hybrid iterative scheme for countable families of relatively quasi-nonexpansive mappings and system of equilibrium problems. *International Journal of Mathematics and Mathematical Sciences*, 2011, Art. ID 131890, 23 pp. http://dx.doi.org/10.1155/2011/131890

- [13] Shehu, Y., Ogbusi, F. U., & Iyiola, O. S. (2017). Strong convergence theorem for solving split equality fixed point problem which does not involve the prior knowledge of operator norms. Bulletin of the Iranian Mathematical Society, 43, 349-371.
- [14] Takahashi, W. (2000). Nonlinear functional analysis: fixed point theory and applications. Yokohama Publisher Inc.
- [15] Wang, Y. Q., & Kim, T. H. (2017). Simultaneous iterative algorithm for the split equality fixed-point problem of demicontractive mappings. *Journal of Nonlinear Sciences and Applications*, 10, 154-165. http://dx.doi.org/10.22436/jnsa.010. 01.15
- [16] Zegeye H., & Shahzad N. (2013). Approximation of the common minimum-norm fixed point of a finite family of asymptotically nonexpansive mappings. Fixed Point Theory and Applications, 1, 2013. http://dx.doi.org/10.1186/ 1687-1812-2013-1
- [17] Zhao, J. (2015). Solving split equality fixed point problem of quasi-nonexpansive mappings without prior knowledge of the operator norms. *Optimization*, 64(12), 2619-2630. http://dx.doi.org/10.1080/02331934.2014.883515

This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted, use, distribution and reproduction in any medium, or format for any purpose, even commercially provided the work is properly cited.